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Section : Reasoning Ability
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Question ID : 99836724339
Status : Answered
Chosen Option : 4

Q2 Choose the correct mirror image from the alternatives of the given figure:

P

Ans

X 3.

X 4

2 5 [ s
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Question ID : 99836724332

Status : Answered
Chosen Option : 1

Q.3 7 14 9f¥ kg T el Fr v TR B T 20 9 kg T A Fr g@d T F 15 kg HF W AER T
omar wrar T afomsr Bsor &7 s T 18 9 kg & T T 14 9Ty kg e S & A S e
F?

Ans x1_ 95 kg
< 2 8 kg
V3 7.5 kg

< 4 6.5 kg

Question ID : 99836724337
Status : Answered
Chosen Option : 4

Q4 Choose the correct alternative for the following:

OOA 195. ACo|

Ans

K4

@
x| A\
@

Question ID : 99836724336
Status : Answered
Chosen Option : 2

Q.5 Hariisa graduate with 15 class and has secured 65% marks in the selection test. He has been working as a marketing

officer for the last 2 years. He was born on 20th July 1990.

Ans  of 1. The candidate is to be selected
75 2. The case is to be referred to the GM. Recruitment.
/< 3. The candidate is not to be selected

X 4

The case is to be referred to the Chairman, Recruitment committee.
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Question ID : 99836724335
Status : Answered
Chosen Option : 3

Q.6

Ans

In the following question, a statement is given followed by four conclusions. Without resolving anything vourself,

choose the conclusion which logically follows from the given statement.

Statement:

Most sarees in that shop are expensive.

Conclusions:

2R

There are no cheap sarees available in that shop.
Handloom sarees in that shop are cheap.
There are cheap sarees also in that shop.

Some sarees in that shop are expensive.

« 1. Only conclusion III follows.

/5 2. Either conclusion II or IV follow.

#< 3. Only conclusion I follows,

7< 4. Either conclusion I or III follow.

Question ID : 99836724334
Status : Answered
Chosen Option : 1

Q7 Find the odd one from the following:

Ans

W 1 MLJ
< 2. TRP
< 3. GEC
K4 ZXV

Question ID : 99836724341
Status : Answered
Chosen Option : 1

Q8  Choose the similar pair for the following:

Ans

225:16::
K< 1324
v 2 256
<3 196
X4 216

18
17
13
15

Question ID : 99836724327
Status : Answered
Chosen Option : 2
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Ans
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Question ID : 99836724331
Status : Answered
Chosen Option : 2

Q.10 oOut of the four given alternatives, choose the most appropriate description about the given three numbers:

343 :1331:2197

Ans 5 1. These are square root of numbers

7< 2. These are prime numbers

o 3. These are cubes of odd numbers

7< 4. These are squares of odd numbers

Question ID : 99836724330
Status : Answered
Chosen Option : 3

QM & fow 1w 9w faredt § §, 3w faweT & g o S e Ry aw A el W owe dgee o
& g

FERIIE: RIS, & R ST
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X 3 3 malr o FofeOT @ WEU @I §
X 4 I Tl ereT SIS TS ¥ TEU W B

Question ID : 99836724329
Status : Answered

Chosen Option : 1
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Question ID : 99836724328
Status : Answered
Chosen Option : 1

Q.13 The numbers of boys in a class are 4 times the number of girls. Which one of the following numbers represents the total
number of students in the class?

Ans  of 1. 65
<2 54
<3 56
< 4 66

Question ID : 99836724333
Status : Answered
Chosen Option : 1

Q14 Find the number of straight lines from the following figure:

Ans X112
<210
v 11
X409

Question ID : 99836724338
Status : Answered
Chosen Option : 1

Q.15 Ina class of students, 6 students can speak Hindi, 15 can speak English and 6 can speak French. In that class, none can
speak any other language. If 2 students in the class can speak only two languages and one student can speak all the 3

languages, then how many students are there in the class? X L .
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Question ID : 99836724340
Status : Answered
Chosen Option : 3

Section : General A wareness

O s # g F ey gEw w9 @

Ans x1_ m
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ES
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Question ID : 99836724351
Status : Answered
Chosen Option : 4

Q2 38 2019 % Ty FHAFH F HAR, TYFT AT TS & AEAET FiT &2

Ans v 1. TR TR

X 2. ol SI=ET
< 3 FIET AT
K 4 FF B-HA

Question ID : 99836724356
Status : Answered
Chosen Option : 1

Q.3 India’s has created history by becoming the first female to be appointed to the ICC (The International Cricket

Council) International Panel of Match Referees.

Ans " 1. Rajani Venugopal
v 2 G S Lakshmi
# 3 Vrinda Rathi
#< 4. Pramila Bhatt
Question ID : 99836724343
Status : Answered
Chosen Option : 2
Q.4  According to the Indian Constitution, there are three organs of government: these are the legislature, the and the
Jjudiciary.
Ans
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/< 1. Managerial
#< 2. Directorial

v 3 Executive

< 4 Administrative

Innovative Institute - 9717168088 Join for Sure Sucess

Question ID : 99836724342
Status : Answered
Chosen Option : 4

Q.5 Block Mountains are created when large areas are broken and displaced vertically. The uplifted blocks are termed as
Ans X 1. Dorsts
v 2. Horsts
7< 3. Vorsts
< 4. Morsts
Question ID : 99836724346
Status : Answered
Chosen Option : 1
Q.6 +
e Taa g e 9T smfa 87
Ans x 1.
T SITUFR, FHASE THAT & &7 AU §
X2 aHfeF AR, SAfas §HET # HET AUN §
< 3
FAT HITTELT, HIATSF AT F JET 3R §
v o OF, TS FHEE FT HET AR §
Question ID : 99836724349
Status : Answered
Chosen Option : 4
Q7 T@g, oNT & A A F #eH 7 & HY T e @ IE AT AT F T Agea T
seier 8, 3t wfeue o v R #
Ans x 1.
T e & o 37 3 Swar Fr swor ¥ T=aT e wieT we
v 3
o gfehar & a7 o R R # Fuhg ==
5 3.
Faer RHeT gaNT e A AN Hearul TeTce & & Hed WeErdl W I @A
X a

oy arffie ATt @ ar 7= 3R e Ry affs REram & =R ae
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Chosen Option : 2

Q.8 RANE ¥ W OF O, &7 F v 9 E@-@), A B AEES uW 1 UE #ew AT §9 § S e
#mﬁg‘é%l

A XL Rl SrereaT
< 2 SRR SiayoT 3ThreRT
v 5 grtfaefas aa
X 4 gt =

Question ID : 99836724350
Status : Answered
Chosen Option : 3

QI s Fehm mI T T i IS s o I d W HF e #
HAR R ST aTer Segpte UTEedT ATer TSE I 7 957 a9 o, $HE HeaT wrer &3,
aitor, el Sk gl Fr o wga = o

Ans X1E|.;\E-
v 2 Famg T e
K 3 Fel

X4 TF (FAFE)

Question ID : 99836724345
Status : Answered
Chosen Option : 1

O oo (Ames) TirETor FT R BT 39mer fREr ST 27
A X1 TR O A TeT AT T g = ¥ R
X 2 fordlr a7 ey fafesror A & oo

v 3
e TaTae & FEEE HHEAT T AT oA F o

K4 ET &7 AarliRe Tedr #T WET A & v

Question ID : 99836724354
Status : Answered
Chosen Option : 4

Q.11 Who among the following was selected as 13th President of the World Bank Group on April 5, 2019?

Ans o 1. David R. Malpass

< 2. Paul Wolfowitz
/< 3. Robert B. Zoellick
/< 4. Jim Yong Kim
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Question ID : 99836724355
Status : Answered
Chosen Option : 4

Q12 The average density of population in Indiais  persons per square km.
Ans XK 1. 372

X 2. 362

v 3 382

X 4392

Question ID : 99836724344
Status : Answered
Chosen Option : 3

Q.13 The Fifth United Nations (UN) Global Road Safety Week was held from 6th May to 12th May 2019. the theme for
weekly event in 2019 was:

Ans o 1. Leadership for Road Safety
/< 2. Achieving Road Safety
7< 3. Action for Road Safety
/< 4. Managing Road Safety

Question ID : 99836724347
Status : Answered
Chosen Option : 3

Q.14 What is the process in which metals are extracted from their ores by heating beyond the melting point?

Ans ¢ 1. Electrolysis
+ 2. Smelting

/< 3. Froth Flotation
/< 4. Reduction

Question ID : 99836724352
Status : Answered
Chosen Option : 2

Q.15 What is ‘the method of growing plants by using a mineral nutrient solution in water solvent instead of soil’ called?

Ans X 1. Aviculture
+ 2. Hydroponics
X 3 silviculture
#< 4. Pisciculture

Question ID : 99836724353
Status : Answered
Chosen Option : 2

Section : Teaching Aptitude
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Question ID : 99836724369
Status : Answered
Chosen Option : 1

Q2 Integrating gender perspectives in a classroom discussion enables boys to

Ans

/< 2. debate with girls
< 3. debate with the teacher

/< 1. promote their own self esteem

+ 4 do away with their own prejudices

Question ID : 99836724372
Status : Answered
Chosen Option : 4

Q.3 1In the discovery approach of teaching, the most important learning outcome is

Ans X 1. reinforcement
/< 2. memorisation

< 3. manipulation

« 4 conceptual understanding

Question ID : 99836724373
Status : Answered
Chosen Option : 4

Q4

Ans 3 1. Online learning
/< 2. Home tutoring
/< 3. E-learning

« 4 Distance learning

www.innovative.org.in

‘Any time, any place, any subject’ is an emerging theme of

Question ID : 99836724367
Status : Answered
Chosen Option : 1
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Q.5 As per NCERT, the appropriate age at which a child develops problem solving skills is

Ans X" 1. +1 years
W 2. +4 years
/< 3. +2 years
/< 4. +3 years

Chosen Option : 3

Question ID : 99836724358
Status : Answered

Q6 1998 F T~dry v e wftwe (NCTE) Fr i€ & aran mm fF fveres afiadar o=y amer mgeaqor
FNF B & T 7 FIA A T TEHL L &, Tew I

A s ’
® X A9 gEEERdT g &
v 2. T AT 3T R B

X 3 7T AT 9w §
X 4 FT AT FT IgET T B

Chosen Option : 2

Question ID : 99836724360
Status : Answered

Q7 In any language. 75% of the language is expressed through .
Ans o 1. gestures and facial expressions

/< 2. pronunciation

/< 3. correct grammar

/< 4. vocabulary

Chosen Option : 1

Question ID : 99836724368
Status : Answered

Q.8 While posing a mathematical problem, a teacher must ensure that the language of the problem is within the level
of students.

Ans X 1. reachable
+ 2. comprehension

% 3. ability
/< 4. strategic

Chosen Option : 2

Question ID : 99836724370
Status : Answered

Q.9 Inorder to ensure that students of upper primary attain standards and capabilities in art education, there must be ample

opportunities for them to art.
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< 2. observe
/< 3. analyse

/< 4. evaluate

Join for Sure Sucess

Question ID : 99836724376
Status : Answered
Chosen Option : 4

Q10 The social environment of a child’s home greatly influences his/her
Ans o 1. personality development
/< 2. physical development
/< 3. creative development

/< 4. aesthetic development

Question ID : 99836724359
Status : Answered
Chosen Option : 1

Q1 Tawer AT @0 U39 T A AT U059 S B Aenrse €7 uw Ay anfeardr Afgen st awrer 9fig
g owed £ . BT W F g7 W aBE aga ¥ e § R aftewe R F 3w T & wei
el T ¥ 5 aTeReew W | (5 Rgrae e, 29 REw 2013)) A R & wen & 5
TEER # YEAT ¥ (3T gEg 399eT @em

A X1 TgeY % IRl T T e
X 2. FAER 9o FF SicHTed Hl
v 5. 3frF TR F TP T
X 4 FF-TaaF F deafed =

Question ID : 99836724375

Chosen Option : 4

Status : Answered

Q12 yefrr frem A 2016 & 7T F 3R, & R # T T F BT 399 o ae
I FReUT WA & B AT €

A g TTeTmAT Y aTETSS T
X 2. g FrolAl H ATHSRS
X 3 TTE F HloeT OIS #r &3

X 4
S UISTFAT FT FEATT FIH I TEr F BT FHEEAT Tl gEEast

Question ID : 99836724362

Chosen Option : 3

Status : Answered
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Ans X1, 14 — 35 years
/< 2. 0—6 vears
/< 3. 6— 18 years
W 4 6— 14 years

Question ID : 99836724361
Status : Answered
Chosen Option : 4

Q.14 Students indicate an increased appreciation for their environment when they are taught

Ans 3 1. in a laboratory

/< 2. in a classroom

v 3 outside a classroom

< 4. atsea

Question ID : 99836724366
Status : Answered
Chosen Option : 2

Q15 Famr &, WIoF ST SAFET F ST AT 7t R = @R g

A o e oTst
X 2 FRzarfoT ot
X3 omifyr ®T T HeTH oI
X 4 ATATEE T F FFamr oE

Question ID : 99836724364
Status : Answered
Chosen Option : 1

Q16 YWhich of the following aims relate to numeracy in school education?
Ans  of 1. Turning out employable adults

/< 2. Developing responsible adults

/< 3. Turning out sociable adults

/< 4. Developing a child’s inner resources

Question ID : 99836724371
Status : Answered
Chosen Option : 4

Q.17 The biggest challenge faced by the current educational system in India is

Ans 1. global warming
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#< 3. corporal punishment

+ 4 equity in education

Question ID : 99836724363
Status : Answered
Chosen Option : 2

Q.18 As per the research and philosophy of Jean Piaget, the basis of learning in a child’s early years is
Ans X1 art

v 2. play

/< 3. enjoyment

/< 4. expression

Question ID : 99836724357
Status : Answered
Chosen Option : 2

Q.19 In a collaborative learning environment, effective language acquisition can take place when there are ample
opportunities for

Ans X 1. yerbal communication

v &) interpersonal communication
/< 3. analytical communication

/< 4. written communication

Question ID : 99836724365
Status : Answered
Chosen Option : 1

Q20 1 which of the following forms of art does a textbook come alive?
Ans  of 1. Theatre

< 2. Dance

/< 3. Painting

< 4 Craft

Question ID : 99836724374
Status : Answered
Chosen Option : 1

Section : Subject Knowledge

Q1 39 v 7T 3T F GFAFA A F TATE I T ¥, A AT UG FY TEG F F e
_Wﬁmﬁm%;mmmmm#agam%,a} AF|ER
Rweq B

Ans X 1. Fea fauiRor (Refar), fraer (afagere)
/X 2. Taer (e, faer @)
/< 3. e feRor (Refden), aea faeivor (Resfdr)
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Question ID : 99836724471
Status : Answered
Chosen Option : 4

Q.2 The combination of forward by two counterparties with opposite but matching needs
is called:

Ans x 1. forward

J 2. swap
x 3. option
75 4. future

Question ID : 99836724460
Status : Answered
Chosen Option : 2

Q.3 After calculating the firm's profit, the accountant discovered the following:
a) A fixed asset costing Rs. 50,000 has been included in the Purchases A/C
b) Stationary costing Rs.10,000 has been included as closing stock of raw materials,
instead of stationary

These two errors would have the effect of:

Ans X" 1. Overstating both gross and net profit by Rs. 50,000
J 2. understating gross profit by Rs. 40,000 and Understating Net Profit by Rs. 50,000
X 3. Understating Gross profit by Rs. 60,000 and Understating Net Profit by Rs. 50,000

x 4. understating both gross and net profit by Rs. 40,000

Question ID : 99836724400
Status : Answered
Chosen Option : 4

Q.4 X Co. Ltd. purchased assets with Rs. 28,80,000. It issued debentures of Rs. 100 each at
a discount of 4 percent in full satisfaction of the purchase consideration. The number
of debentures issued to vendor of assets is:

Ans X" 1.28800

75 2.34000

/5 3.32000

o 4.30000

Question ID : 99836724421
Status : Answered
Chosen Option : 1

Q.5 Consider a 10 year 7% annual coupon bond with Face V. alue = $ 1000 and required rate
of return of 1 1%. Which of the following is the closest approximation to the value of
the bond?

Ans X" 1.$358.07
/X 2.$805.15
/< 3.$356.49
W 4.$764.43

www.innovative.org.in Buy Study Materials Wwwiciontinexcoin



Innovative Institute - 9717168088

Question ID : 998343P4gEPure Sucess

Status : Answered
Chosen Option : 4

Q6 A is a name, term, sign, symbol or combination of them that is intended to
identify the goods and services of one seller or group of sellers and to differentiate
them from those of competitors.

Ans  of 1 brand

x 2. signature

x 3. patent

x 4. trademark

Question ID : 99836724438
Status : Answered
Chosen Option : 1

Q.7 Which are the additional three elements of services marketing mix?

Ans x 1. People, product, process
x 2. People, physical evidence, placement
x 3. Participants, physical evidence, products

( 4. People, physical evidence, process

Question ID : 99836724380
Status : Answered
Chosen Option : 1

Q.8 The ratio used to assess the short-term debt paying capacity of a concern is:
Ans x 1. Debt equity ratio

x 2. Proprietary ratio

o 3. Liquid ratio

x 4. Creditors turnover ratio

Question ID : 99836724413
Status : Answered
Chosen Option : 1

Q.9 Hawthorne experiments were conducted by:
Ans X" 1. Herzberg

x 2. McGregor

x 3. Learntt

J 4. Elton Mayo

Question ID : 99836724446
Status : Answered
Chosen Option : 3

Q.10 Which of the following is NOT an economic activity?
Ans « 1. Painting for self-use

X 2. Running an academic school
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X 4. Painting for commercial use

Question ID : 99836724389
Status : Answered
Chosen Option : 1

Q.11 The facility offered to investors to shift from one scheme to another under the same
fund is called:

Ans X" 1. Repurchase facility
x 2. Reissue facility
of 3. Lateral shifting facility

X 4. Rollover facility

Question ID : 99836724455
Status : Answered
Chosen Option : 3

Q.12 Which is the apex bank for agricultural credit in India?

Ans " 1 RBI
75 2.1DBI
/< 3.SIDBI

o 4. NABARD

Question ID : 99836724390
Status : Answered
Chosen Option : 4

Q.13 Which one of the following is a cash asset?

Ans « 1. Deposit created out of loans

x 2. Share
X 3. Bond

x 4. Post office certificate

Question ID : 99836724447
Status : Answered
Chosen Option : 4

Q.14 A nominal account having debit balance represents:
Ans X" 1. Assets

x 2. Income or gain
75 3. Liabilities

“ 4. Expense or loss

Question ID : 99836724397
Status : Answered
Chosen Option : 2

Q.15 X Co. Ltd. forfeited 20 shares of Rs. 10 each on which Rs. 5 per share were paid. The
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reserve will be:
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Ans  of 1. Rs 20

/X 2.Rs.60
#< 3.Rs. 100
/X 4.Rs. 40

Join for Sure Sucess

Question ID : 99836724420
Status : Answered
Chosen Option : 4

Q.16 Which of the following does NOT require high advertising budget?
Ans  off 1. Mature brand

x 2. Undifferentiated product
x 3. Low share brand

X 4. New product

Question ID : 99836724474
Status : Answered
Chosen Option : 1

Q17 garret syeaicher JoTTelt Y ATaRAHAT3HT & Fest #, TrATARaT F FAT AT &2
Ans o 1. FEcaqet Y deat & Hed TS Ea Y
7< 2. ST B T IR AT AT & SR
75 3. TP 27T 3T TR R HIE T HTRIBIATHT T 30T
75 4. 0T S Faraar

Question ID : 99836724378
Status : Answered
Chosen Option : 2

Q.18 On 1 May 2009, Vivek draws a bill on Bhaskar for three months. Its due date is:
Ans X" 1.3 Aug 2009

75 2.31 Jul 2009
o 3.4 Aug 2009
75 4.1 Aug 2009

Question ID : 99836724399
Status : Answered
Chosen Option : 3

Q.19 Matrix organisation:

Ans f 1. combines functional departmentation with product or project organisation
x 2. eliminates problem of choice
x 3. gives direction to subordinates

x 4. depends too much on experts
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J

Q.20 ‘Personality Dynamics’ is presented by:

Ans x 1. Group behaviour approach
x 2. Mathematical approach
x 3. Empirical approach

J 4. Inter-personal approach

Question ID : 99836724431
Status : Answered
Chosen Option : 3

Q.21 On 1st January 2009, Rs. 1750 was given to a petty cashier . The amount spent by him
was Rs. 1250. on 1st February , the cashier under the imprest system will receive:

Ans o 1 Rs. 1250
/5 2.Rs. 1750
75 3.Rs. 500
75 4.Rs. 3000

Question ID : 99836724401
Status : Answered
Chosen Option : 2

Q.22 Which of these is NOT a function of the W  orld Bank?

Ans x 1. To help the member countries in the reconstruction and development of their

countries.

J 2. To arbitrate on international trade disputes.
x 3. To encourage private foreign investment and credit by guaranteeing repayment.

x 4. To promote long-term balanced growth of international trade.

Question ID : 99836724393
Status : Answered
Chosen Option : 2

Q.23 el sagamr 9% A 7O & =0T & el Fefafla F F g
Ans X 1. ATEATIS TSERT 3T, TR ISET 3T Y wgr |

/X 2. FenTfad TSE 3T, aredfaes TSE 3 Y aeT &N

7% 3. saTeT Y AT &, ST Y A &3 1 g M|

J 4. ST b1 ATehfcien &T FemrarsiTel &9 & & |

Question ID : 99836724386
Status : Answered
Chosen Option : 4

Q.24 The cost of setting up a warehouse is considered as cost, whereas the cost of
overtime paid to workers is considered as a cost.

Ans J 1. fixed, variable
75 2. fixed, fixed

x 3. variable, variable
www.innovative.org.in Buy Study Materials www.icionline.co.in
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Question ID : 99836724473
Status : Answered
Chosen Option : 2

Q25 Rrgrera war 3k wfafaftat # Pifya e & e wemmegar sk R+ wadera &1 yavr
e gar v s §7

Ans X 1. Qg-3TUTRA Srele SHaET ZaRT
#< 2. AT Tt faRaror gErT
o 3. S EIRA. (PERT) garr

/X 4. @ dioa. (CPM) garT

Question ID : 99836724445
Status : Answered
Chosen Option : 3

Q.26 The operating profit and net sales of a firm are Rs. 2,00,000 and Rs. 10,000
respectively , then the operating profit ratio will be:

Ans X" 1,50 percent
x 2. 5 percent
x 3. 10 percent
“ 4. 20 percent

Question ID : 99836724417
Status : Answered
Chosen Option : 2

Q.27 If the revenue was Rs. 45,000, expenses were Rs. 37,500 and dividends paid were Rs.
10,000, the amount of net income or net loss was:

Ans o 1.Rs. 7,500 net income
x 2. Rs. 37,500 net loss
x 3. Rs. 45,000 net income

x 4. Rs. 2,500 net loss

Question ID : 99836724418
Status : Answered
Chosen Option : 1

Q.28 Which of the following statements is F ALSE?

Ans x 1. The issue of bonus shares is a process of distribution of profit to shareholders
X 2. Capital redemption reserve is created on buy back of equity shares
“ 3. Provisions should always be classified as current liabilities

X 4. The profit prior to incorporation of a company is capital profit

Question ID : 99836724396
Status : Answered
Chosen Option : 3

Q.29 Theverineirieeferyidence states that : Buy Study Materials www.icionline.co.in
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Question ID : 99836724432
Status : Answered
Chosen Option : 1

Q.30 Financial derivatives are mainly used for:
Ans « 1. hedging risks

x 2. earning income

x 3. creating more risks

X 4. speculative activities

Question ID : 99836724458
Status : Answered
Chosen Option : 1

Q.31 Customs defined by a group overtime are known as:
Ans f 1. Morals

#< 2. Ethics
x 3. Principles
75 4. Traditions

Question ID : 99836724419
Status : Answered
Chosen Option : 3

Q.32 When all the debentures are redeemed, the balance in the debenture redemption fund

account is transferred to:
Ans x 1. Profit and loss account

x 2. Profit and loss appropriation account
f 3. General reserve

x 4. Capital reserve

Question ID : 99836724423
Status : Answered
Chosen Option : 4

Q.33 Income and expenditure accounts show a balance of:

Ans X" 1. net profit/loss
x 2. cash in hand at the end
X 3. capital fund

« 4. surplus or deficit
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Status : Answered
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Q.34 Given real GDP of 8.25% and nominal GDP of 1 1.25%, the rate of inflation will be:
Ans “ 1. 3 percent

x 2. 3.5 percent
x 3. 4.25 percent

x 4. 2.5 percent

Question ID : 99836724391
Status : Answered
Chosen Option : 1

Q.35 Find out credit purchases with the help of information given below:

Cash Purchase Rs.5,000, Cash Sales Rs.12,000, Credit Sale Rs.18,000, Closing Stock
Rs.3,500, Opening Stock Rs.2,750, Rate of Gross Profit is 20% on Cost.

Ans  off 1. Rs. 20,750
75 2.Rs. 20,250
/5 3.Rs. 21,750
/5 4.Rs. 21,000

Question ID : 99836724398
Status : Answered
Chosen Option : 1

Q.36 The process of transferring the transactions relating to changes in a particular item at
one place in the form of a account is called:

Ans J 1. Posting
x 2. Balancing
X 3. Journalising
x 4. Casting

Question ID : 99836724395
Status : Answered
Chosen Option : 2

Q.37 Ryrafaf@a & & #l 71 F14 315,070, (IMF) &7 781 &2

Ans X 1. g T TeE it i T3t T HSROT e &
o 2. 7% 3iaRrdr saraR Rarel & wweiat & v s ver ar §
75 3. 7 AT & & Hie TATHIST & T Tg=T o YTt e
75 4. 98 HATSET WAL & TIT ThAT & eTat e B

Question ID : 99836724392
Status : Answered
Chosen Option : 4

Q.38 Coordination deals with:
Ans x 1. Supervision of the lower staff

J 2. Harmonising the work relation

x 3. Recruiting people
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Question ID : 99836724444
Status : Answered
Chosen Option : 2

Q.39 In India, the company that actually deals with the corpus of the mutual fund is called:
Ans x 1. Mutual fund company

x 2. Trustee company
x 3. Sponsor company

( 4. Asset management company

Question ID : 99836724456
Status : Answered
Chosen Option : 2

Q.40 An HR manager acts in:
Ans X" 1. Value-added role

« 2. Advisory role
x 3. Dignitary role

X 4. Supervisory role

Question ID : 99836724437
Status : Answered
Chosen Option : 4

Q.41 Managerial Grid Style of Leadership was propounded by:
Ans x 1. Robert Blake and Jennifer Mouton

x 2. Richard Blake and Jane Mouton
x 3. Richard Blake and Jennifer Mouton

“ 4. Robert Blake and Jane Mouton

Question ID : 99836724441
Status : Answered
Chosen Option : 1

Q.42 |dentify the incorrect statement regarding the product life cycle from the following.

Ans « 1. Profits from products remain same across the different stages of the product

lifecycle

x 2. Each stage of the product life cycle presents different opportunities and problems to
the seller

x 3. At each stage, the product requires different functional strategies

X 4. Products usually have a limited life

Question ID : 99836724469
Status : Answered
Chosen Option : 1

Q.43 Flat file databases are most useful for:

Ans X 1. large scale database
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J 3. single user or small group situations

x 4. banking firms

Question ID : 99836724461
Status : Answered
Chosen Option : 3

Q.44 On a particular date, the assets of a business are worth Rs.2,00,000 and its capital is
Rs.70,000. Its liabilities on that date shall be:

Ans  of 1. Rs.1,30,000
#< 2.Rs. 70,000
75 3.Rs. 2,70,000

75 4.Rs. 1,10,000

Question ID : 99836724422
Status : Answered
Chosen Option : 2

Q.45 The process of managing the sales ledger of a client by a financial service company is
called:

Ans x 1. Leasing

J 2. Factoring

x 3. Securitisation of debt

#X 4. Forfaiting

Question ID : 99836724454
Status : Answered
Chosen Option : 3

Q.46 The component of service quality that requires employees engaged in service delivery
to be prompt and helpful in their work is called:

Ans " 1. Assurance
J 2. Responsiveness
x 3. Tangibles
x 4. Empathy

Question ID : 99836724379
Status : Answered
Chosen Option : 2

Q.47 Which of the following item is NOT a component of balance of payment?
Ans ( 1. Cash flow statement

x 2. Working capital
x 3. Capital account

x 4. Financial account

Question ID : 99836724384
Status : Answered

. . . . Chosen Option : 3 L )
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Q.48 Which of these is a primary sector?
Ans J 1. Poultry farming

x 2. Construction

x 3. Communication

x 4. Banking

Question ID : 99836724387
Status : Answered
Chosen Option : 1

Q.49 Refactoring charges have to be paid in the case of:
Ans x 1. Maturity factoring

f 2. With recourse factoring
x 3. Full service factoring

x 4. Invoice factoring

Question ID : 99836724457
Status : Answered
Chosen Option : 2

Q.50 Under the net worth method, profit/loss is ascertained by the difference between:

Ans x 1. assets and liabilities on two dates
x 2. gross assets on two dates
J 3. capital on two dates

X 4. liabilities on two dates

Question ID : 99836724409
Status : Answered
Chosen Option : 1

Q.51 A business borrowed Rs. 60,000 from its bank and used the cash to buy a new
computer . How is accounting equation affected by these transactions?

Ans x 1. Assets increased,; liabilities decreased
x 2. Assets unchanged; liabilities increased
« 3. Assets increased,; liabilities increased

x 4. Assets unchanged; liabilities decreased

Question ID : 99836724415
Status : Answered
Chosen Option : 3

Q.52 Opening stock + purchases + direct expense — closing stock =?
Ans x 1. net purchases

x 2. stock consumed
x 3. gross profit

( 4. cost of goods sold
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Chosen Option : 4

Q.53 ‘To reinvest 50% of its earnings each year ’is the of a company .
Ans X" 1. objective

x 2. mission
J 3. policy
x 4. vision

Question ID : 99836724430
Status : Answered
Chosen Option : 1

Q.54 Contingency management advocates:

Ans x 1. the solution to every situation

x 2. the best way to do things
x 3. a single plan to achieve objective

J 4. different tasks for different competitive environments

Question ID : 99836724427
Status : Answered
Chosen Option : 4

Q.55 If the merchandise inventory at the end of the year is overstated by Rs.7,500, the error
will cause:

Ans x 1. understatement of net income for the year by Rs. 7,500

x 2. overstatement of cost of merchandise sold for the year by Rs. 7,500
x 3. understatement of gross profit for the year by Rs. 7,500

J 4. overstatement of net income for the year by Rs. 7,500

Question ID : 99836724466
Status : Answered
Chosen Option : 4

Q.56 Which of the following is NOT included in the current account?
Ans x 1. Unilateral transfers

x 2. Goods and service
X 3. Factor income payment

W 4. FDIinflows

Question ID : 99836724383
Status : Answered
Chosen Option : 1

Q.57 If a company has liabilities of Rs. 19,000 and the owner  ’s equity is Rs. 57,000, the
assets of the company are:

Ans " 1. Rs. 57,000
/5 2.Rs. 67,000
/5 3.Rs. 38,000
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Question ID : 99836724426
Status : Answered
Chosen Option : 4

Q.58 The difference between Gross National Product (GNP) and Gross Domestic Product
(GDP) is:

Ans J 1. Net foreign income from abroad
x 2. Depreciation
x 3. Excess of indirect taxes over subsidies

x 4. Excess of subsidies over indirect taxes

Question ID : 99836724385
Status : Answered
Chosen Option : 3

Q.59 A sole proprietor decided to use the same bank account for his personal affairs as for
his business. Which of the following accounting principles is violated?

o 1. Entity
75 2. Objectivity
x 3. Measuring unit

Ans

x 4. Going concern

Question ID : 99836724424
Status : Answered
Chosen Option : 1

Q.60 In an option contract, if the option can be exercised only at the time of maturity
called:

J 1. European option
x 2. Put option

x 3. Double option

Ans

x 4. American option

,itis

Question ID : 99836724459
Status : Answered
Chosen Option : 2

Q.61 Thinking and doing is clearly demarcated in:

Ans x 1. Functional organisation

( 2. Line and staff organisation
x 3. Line organisation

x 4. Matrix organisation

Question ID : 99836724433
Status : Answered
Chosen Option : 1

Q.62 The chief executive officer of a firm can know the previous day’s sales down to a

information technology this leads to :
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X 2. cyclical trends

x 3. confusion in strategic planning

X 4. lags

Question ID : 99836724429
Status : Answered
Chosen Option : 3

Q.63 Which of the following is NOT an advantage experienced by pioneers of new product?

Ans x 1. Pioneers achieve economies of scale more quickly than followers

x 2. Pioneers take advantage of customer inertia as the customers continue to purchase
the pioneer product

x 3. Pioneers are able to create high brand recall

( 4. Pioneers sometime launch products before the consumers are ready to accept the
product

Question ID : 99836724470
Status : Answered
Chosen Option : 1

Q.64 Salaries outstanding at the end should be:

Ans « 1. added to salaries and shown on expenditure side of income and expenditure
account

x 2. shown on the asset side of the balance sheet
75 3. shown on the liability side of the balance sheet

x 4. shown only on receipts and payments account

Question ID : 99836724407
Status : Answered
Chosen Option : 3

Q.65 At the beginning of an accounting year , a club has Rs. 19,000 assets; Rs. 5,000
liabilities; Rs. 1,800 debit balance of the Income and Expenditure A/C. The opening
capital fund is Rs.

Ans X" 1.15000

#< 2.18000

/X 3.24800

W 4. 15800

Question ID : 99836724411
Status : Answered
Chosen Option : 4

Q.66 The component of a capital market is:

Ans ( 1. Stock market
x 2. Commercial bill market
X 3. Treasury bill market

x 4. Call money market
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Status : Answered
Chosen Option : 1

Q.67 Which of the following options defines culture?

Ans x 1. learned, interrelated and passive
x 2. learned, interrelated and static
x 3. learned, interrelated and mixed

J 4. learned, interrelated and shared

Question ID : 99836724476
Status : Answered
Chosen Option : 4

Q.68 Transactional Analysis (T A) was originated by:
Ans X" 1. Dr. Wilder Penfield

x 2. Chester Brenard
f 3. Eric Berne

x 4. Frederick Taylor

Question ID : 99836724440
Status : Answered
Chosen Option : 2

Q.69 is said to have occurred when imports are being sold at an unfair price.
Ans x 1. Gray marketing

75 2. Price fixing
( 3. Dumping

x 4. Predatory pricing

Question ID : 99836724439
Status : Answered
Chosen Option : 1

Q.70 Car manufacturers such as Maruti and Honda create several sub-brands linked to the
main brand such as Honda City , Honda Jazz, Honda Brio etc. This is an example of:

Ans x 1. Co-branding
J 2. Umbrella branding
X 3. Ingredient branding

x 4. Line extension

Question ID : 99836724472
Status : Answered
Chosen Option : 1

Q.71 Which of the following statements is TRUE?
Ans J 1. Retiring of a bill is different from dishonour of a bill

x 2. An accommodation bill is drawn and accepted for genuine trade transactions

x 3. There are only two parties in the bill of exchange
www.innovative.org.in Buy Study Materials www.icionline.co.in




x 4. There is no difference between a holdef IR 3§ 1f.c 1168088

Join for Sure Sucess

Chosen Option : 4

Question ID : 99836724406
Status : Answered

Q.72 The ratio that is used to ascertain the soundness of the long-term financial position is:
Ans 3" 1_Current ratio

( 2. Debt equity ratio
x 3. Gross profit ratio

x 4. Absolute liquid ratio

Chosen Option : 2

Question ID : 99836724414
Status : Answered

Q.73 On checking the list of balances on the creditors' ledger accounts, it was found that
the total is Rs. 2,250 more than the balance on the creditors control A/C in the general
ledger.

Which of the following errors could, by itself, account for this difference?

Ans x 1. Total of contra entries against debtor A/C is overstated by Rs. 1,125

( 2. A creditors ledger A/C with a debit balance of Rs. 1,125 has been treated as a credit
balance

x 3. Purchases day book overcast by Rs. 2,250

x 4. A credit note to the value of Rs. 1,125 omitted from a creditors ledger A/C

Chosen Option : 3

Question ID : 99836724404
Status : Answered

Q.74 The type of planning that deals with the planning of people in the organisation and the
work they are likely to do, and how much they are likely to be paid, is called:

Ans x 1. Tactical planning
J 2. Workforce planning
x 3. Operational planning

x 4. Strategic planning

Chosen Option : 2

Question ID : 99836724377
Status : Answered

Q.75 Suspense account having debit balance will be shown in the:

Ans J 1. assets side of the balance sheet
x 2. debit side of the profit and loss account
x 3. credit side of the profit and loss account

x 4. liabilities side of the balance sheet

Chosen Option : 1

Question ID : 99836724403
Status : Answered
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Question ID : 99836724468
Status : Answered
Chosen Option : 2

Q.77 The market that helps commercial banks to maintain their SLR requirement is called:
Ans J 1. Call money market

X 2. Acceptance market
X 3. Discount market

X 4. Commercial bill market

Question ID : 99836724452
Status : Answered
Chosen Option : 1

Q.78 The term refers to statements that are written in a language the computer can
understand.

Ans X" 1. code
o 2. syntax
X 3. para
X 4. process

Question ID : 99836724463
Status : Answered
Chosen Option : 1

Q.79 One particularly useful technique in analysing a firm’ s competitive position relative to
its competitors is referred to as SWOT , which stands for:

Ans x 1. Strengths, Weaknesses, Opportunities, Total costs
X 2. Strengths, Weaknesses, Organisation, Total value
X 3. Strengths, Weaknesses, Opportunities, Transfers

J 4. Strengths, Weaknesses, Opportunities, Threats

Question ID : 99836724435
Status : Answered
Chosen Option : 4

Q.80 A relational database includes:

Ans J 1. a table with large records

x 2. more than one table
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Question ID : 99836724464
Status : Answered

Chosen Option : 1

Q.81 Which of the following is NOT a function of the W orld T rade Organization?

Ans x 1. To provide forum for trade negotiation between the member countries.

x 2. To handle trade disputes.
“ 3. To settle border disputes of member countries.

x 4. To provide technical assistance and training to developing countries.

Question ID : 99836724394
Status : Answered

Chosen Option : 3

Q.82 The closing balance of trade creditors can be obtained from:
Ans X" 1. cash book

x 2. bills receivable account
J 3. total creditors account

x 4. bills payable account

Question ID : 99836724410
Status : Answered

Chosen Option : 4

Q.83 The opening stock was shown at Rs. 9000, which was three fourth of its actual cost.
What will be the effect of this?

Ans X" 1. Gross profit will increase by Rs. 9000
x 2. There will be no effect on gross profit
X 3. Gross profit will decrease by Rs. 3000

“ 4. Gross profit will increase by Rs. 3000

Question ID : 99836724425
Status : Answered

Chosen Option : 3

Ans X' 1. Kelsey-Ciebold scale
J 2. Myers-Briggs Type Indicator
x 3. Johns-Hopkins initial perception scale

x 4. Majors-Hawkins Cognitive Indicator

Q.84 One popular tool for characterising people that addresses their cognitive styles is the:

Question ID : 99836724442
Status : Answered

Chosen Option : 4

Q.85 The data analysis technique that can give you answers to questions you did not even
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X 2. Data cleaning

J 3. Data mining

X 4. Data diving

Question ID : 99836724462
Status : Answered
Chosen Option : 4

Q.86 s SATIR T RAFAR 4T gIT?
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Question ID : 99836724381
Status : Answered
Chosen Option : 4

Q.87 X is a marketable receipt in bearer or registered form of funds deposited in banks for a
specified period at a specified rate of interest. It Represents transferable, negotiable,
short-term, fixed interest bearing, maturity dated, highly liquid and riskless money
instrument. Identify X?

Ans " 1. Cash management bill
x 2. Treasury bill
x 3. Commercial paper

J 4. Certificate of deposit

Question ID : 99836724465
Status : Answered
Chosen Option : 3

Q.88 If the value of gross profit and indirect expenses of a concern are Rs. 4,00,000 and Rs.
1,00,000 respectively , the value of net profit will be:

Ans X" 1.Rs. 6,00,000
o 2. Rs. 3,00,000
75 3.Rs. 4,00,000

75 4.Rs. 5,00,000

Question ID : 99836724416
Status : Answered
Chosen Option : 4

Q.89 A operation (with respect to wholly owned subsidiaries) is the one that is
started from scratch.

Ans X" 1. joint venture
x 2. franchise
J 3. greenfield

x 4. piggyback
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Question ID : 99836724436

Status : Answered
Chosen Option : 4

Q.90 Which of the following is a money market instrument?

Ans ( 1. Certificate of deposit

/5 2.Bond
X 3. Stock

x 4. Debenture

Question ID : 99836724450
Status : Answered
Chosen Option : 1

Q.91 refers to investment in foreign countries that are withdrawable at short notice
(such as investment in foreign stocks and bonds).

Ans ( 1. Portfolio investment
x 2. International investment
X 3. Direct investment

x 4. Demand investment

Question ID : 99836724475
Status : Answered
Chosen Option : 4

Q.92 Bills drawn and accepted payable after three months are called:
Ans X" 1. Indigenous bills

x 2. Accommodation bills

( 3. Usance bills

75 4. Supply bills

Question ID : 99836724453
Status : Answered
Chosen Option : 2

Q.93 The three managerial skills — technical, human and conceptual —were given by:
Ans x 1. Prof. Maslow

x 2. R.N. Farmer
x 3. Prof. Rustow

o 4. Prof. Katz

Question ID : 99836724428
Status : Answered
Chosen Option : 2

Q.94 Which of the following factors does NOT effect international trade flows?

Ans x 1. Impact of Government policies

x 2. Impact of National Income

3. Impact of inflation
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J 4. Impact of literacy rate

Question ID : 99836724402
Status : Answered
Chosen Option : 4

Q.95 Rrrafaf@a & & a1 va gfadas a7 82
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Question ID : 99836724388
Status : Answered
Chosen Option : 3

Q.96 Which of the following is NOT the reason behind international trade?

Ans x 1. Difference in technological advancement
x 2. Difference in consumption and demand patterns
x 3. Difference in natural resources

f 4. Difference in religion

Question ID : 99836724382
Status : Answered
Chosen Option : 4

Q.97 If the relative inflation rate in India increases, which of the following is a possibility?

Ans x 1. Increase in demand for dollars in India, increase in supply of dollars from the US
X 2. Decrease in demand for dollars in India, decrease in supply of dollars from the US
« 3. Increase in demand for dollars in India, decrease in supply of dollars from the US

X 4. Decrease in demand for dollars in India, increase in supply of dollars from the US

Question ID : 99836724449
Status : Answered
Chosen Option : 3

Q.98 Which of the following statements is TRUE?

Ans x 1. Receipts and Payments A/C is a summary of all revenue receipts and payments

x 2. Receipts and Payments A/C is a summary of all revenue receipts and capital
payments

x 3. Receipts and Payments A/C is a summary of all capital receipts and payments

( 4. Income & Expenditure A/C is a summary of all revenue income & expenditure
relating to current year

Question ID : 99836724408
Status : Answered
Chosen Option : 4

Q.99 The major player in the Indian money market is:

Ans Www.innovative.org.in Buy Study Materials www.icionline.co.in




x 1. NBFC Innovative Institute - 9717168088 Join for Sure Sucess

X 2. Cooperatives banks
“ 3. Commercial banks

X 4. Indigenous bank

Question ID : 99836724451
Status : Answered
Chosen Option : 1

Q.100 ‘Why any money should be spent at all by a manager?’ This narrative is questioned in
the:

Ans J 1. zero-based budgeting
x 2. internal audit

x 3. network analysis

75 4.CPM

Question ID : 99836724443
Status : Answered
Chosen Option : 2

Section : Language Competency T est

Q.1 Select the most appropriate option to fill in the blank.

Turnleft ~ the end of the street and the school willbe  vour right.
Ans 3" 1. on, at
x 2. in, on
/< 3. at, in
o 4 at,on

Question ID : 99836724489
Status : Answered
Chosen Option : 4

Q2 gelect the most appropriate option to fill in the blank
He didn’t believe I said.
Ans o 1. what
X 2. the
< 3. for
< 4. which
Question ID : 99836724490
Status : Answered
Chosen Option : 1
Q.3
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Select the most appropriate option o T i THE bl i or SHre St

I congratulated Monika her success.
Ans  of 1. on
X2 in
< 3 at
K4 to

Question ID : 99836724488
Status : Answered
Chosen Option : 1

Q4 Select the most appropriate synonym of the given word:

REPEAL

Ans  of 1. revoke
< 2. ratify
# 3 endorse
#< 4 confirm

Question ID : 99836724485
Status : Answered
Chosen Option : 4

Q.5  Fill in the blank with the most appropriate antonym of the underlined word in the sentence:

Some drivers disregard rules and indulge in rash driving while others are very
Ans X 1. conscientious
#< 2 callous
' 3. cautious
# 4. confident

Question ID : 99836724486
Status : Answered
Chosen Option : 3

Q.6 Fill in the blank with the most appropriate antonym of the underlined word in the sentence:
The  colours of the painting became dull with the passage of time.
Ans 1. tarnished
& 2. faded
X 3. frigid
v 4 vivid

Question ID : 99836724487
Status : Answered
Chosen Option : 3
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Ans

Select the wrongly spelt word:

F !

. arrogant

awloward

- accomplish

- abundent
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Question ID : 99836724478
Status : Answered
Chosen Option : 2

Q8  Select the most appropriate synonym of the given word:

Ans

EMANCIPATION
/< 1. oppression
/< 2. repulsion
/< 3. compulsion

W 4 liberty

Question ID : 99836724484
Status : Answered
Chosen Option : 4

Q9 Identify the segment in the sentence which contains the grammatical error:

Ans

Very little people attended the inauguration of the new comniunity centre.

/< 1. community centre
W 2. Very little people
/< 3. inauguration of the
# 4. attended the

Question ID : 99836724480
Status : Answered
Chosen Option : 2

Q10" Select the most appropriate option to fill in the blank:

Ans

He was very confident before his performance, ?

/< 1. was he
/< 2. hasn’t he
' 3. wasn’t he

/< 4 wasn’t it
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Question ID : 99836724481

Status : Answered
Chosen Option : 3 www.icionline.co.in




Innovative Institute - 9717168088 Join for Sure Sucess ____J

Q11 Fill in the blank with the most appropriate word:

Iwasnotableto  my friend’s phone number even after my best efforts.
Ans < 1. pertain
/< 2. predict
« 3. recollect
/< 4. reproduce

Question ID : 99836724479
Status : Answered
Chosen Option : 3

Q12 gelect the correct sentence structure:
Ans 1. The baby on the bed gently Mother laid.

/< 2. Mother gently on the bed laid the baby.
« 3. Mother laid the baby gently on the bed.
#< 4. The baby gently laid Mother on the bed.

Question ID : 99836724482
Status : Answered
Chosen Option : 3

Q13 gelect the correct sentence structure:

Ans x 1.

No sooner did the bird saw the worm when it flew away with it.

X 2

No sooner did the bird see the worm but it fly away with it.

X 3

No sooner did the bird had seen the worm it flies away with it.

v

No sooner did the bird see the worm than it flew away with it.

Question ID : 99836724483
Status : Answered
Chosen Option : 1

Q14 Select the most appropriate meaning of the given idiom:

to cool one’s heels
Ans 1. to feel very tired

/< 2. to feel very fresh

« 3. to wait for a very long time
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< 4. to dip the feet in cold water

Question ID : 99836724477
Status : Answered
Chosen Option : 2

Q15 Select the most appropriate option to fill in the blank.

All girls and boys must carry sweaters with them on the trek.

Ans X 1. theirs
/X 2. your
/X 3. our
W 4 their

Question ID : 99836724491
Status : Answered
Chosen Option : 4

e ‘el & TAT ALl &
e o1 Remgvs, 9ETE
Z< 2. 9TeToT, 9EIT
X 5. OTSTOT, 39
X 4 399, g

Question ID : 99836724500
Status : Answered
Chosen Option : 1

AT nterview’ @ fEEET e &
XK e dey
v 2 giaarar
A0 Ty
X 4 famr-faser

Question ID : 99836724493
Status : Answered
Chosen Option : 2

" et g R, e g e
Ans - X 1. fF9ISOT ITSTeT

< 2 AT 39S

v 3 BT freoT IuaeT
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Question ID : 99836724497
Status : Answered
Chosen Option : 1

A ‘License’ T fE=ET 3ot &

e K maTRRE
2. 3T
X3 wafeg
X< 4 e

Question ID : 99836724492
Status : Answered
Chosen Option : 3
Q.20

‘qrRETT # FeH e &
X e

X 2 Fitor

v o gister

K o mfer

Question ID : 99836724506
Status : Answered
Chosen Option : 4

O i @ R e T
Ans x,]. ﬂﬁ ﬁ

A 2 T

v 5 3

X o T

Question ID : 99836724505
Status : Answered
Chosen Option : 3

Ans

Vi e + ETHE

X 2. ATeg + HTITHA

X 3 8T + HETHAS
29
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Question ID : 99836724495
Status : Answered
Chosen Option : 1

O ogrer frmeT wOTEETET 32

Ans )

1 HT

X 2. TR

X s &
< 4 qreTer

Question ID : 99836724502
Status : Answered
Chosen Option : 1

¥ gl S AR T2 ¥ 9T # 9ER L
Ans ne seoTie

A2 TeraTde

< s ESuTeHE

v ¢ FraEmfeEts

Question ID : 99836724499
Status : Answered
Chosen Option : 4

A2 peor Sigd Foa & AR AT A o I T TR F 2
Ans X1 BT 91T

X 2 TRer I

K 5. 3ugeFT |l

o BFS AT

Question ID : 99836724498
Status : Answered
Chosen Option : 4

%% arer gE TmAT mEE # AT &

Ans - X ETEE X W Ter ST

XZ. HTeh ("I‘}-I'!Irl HT SATAT

< 3. Hdldeh §1¢ AT ATAT
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Question ID : 99836724494
Status : Answered
Chosen Option : 4

V¥ oo # TS gEw e i
e a9 §ER

X2 =g #R mE R

X3 omE # e

K4 oS §ER IS

Question ID : 99836724496
Status : Answered
Chosen Option : 1

0% g ¥ aumET ¥
e XK gy, e
v 2 HUZ®, T

™,

X 5. gTeT, FER
X 4. AT, AR

Question ID : 99836724501
Status : Answered
Chosen Option : 2

O g R T §7
Ans xm T‘ﬁT
< 2. fggor

X 3 HEA

(29

v o grar

Question ID : 99836724503
Status : Answered
Chosen Option : 2

Q30 ayoarely @ R T
Ans X1. 7
X 2 e

www.innovative.org.in Buy Study Materials www.icionline.co.in




< 3. odTel

=

v o TR

Innovative Institute - 9717168088

Join for Sure Sucess

Question ID : 99836724504
Status : Answered
Chosen Option : 4
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